= o
N & o & AF & H Al A
20229 & =04 LB AHS
2N NS
M MTHE AR
Sl HHEXME HA2Y o HOAAL X (S &2)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ATs 213,696 355,826 A 142,130
Alls AHE ZHI 171,816 304,806 A 132,990
HEFXNHUH HA2E 2 BEYAME X3 106,076 238,336 A 132,260
FOURMXNEEH 29 49,400 49,400 0
201 L2l 12,400 12,400 0
01 At 22l 12,400 12,400 0
OUEHZY LEt==EH| 3,400,000 3,400
OfIa=¢ 30,0003 25 x12& 9,000
301 LPEXZ 37,000 37,000 0
09 HALAHIX &S 3,000 3,000 0
OFQUIXAS HAEs & ==XXEH A
(13l) 100,000& »25H 2,500
OF2XXE20d 22 500,000& 500
12 JIEBtE& = 34,000 34,000 0
OZAt==g 34,000,000& 34,000
FOEOAL XA 52,676 167,936 A 115,260
201 Yet2 | 43,176 39,636 3,540
01 AR Z2IH] 12,020 9,380 2,640
OBARUAYAALY SAE  275,0008 «122 3,300
OFAL A2ZFLHA 2|l 130,000& *123] 1,560
O&F=J & o gxt=z 2,600,000& 2,600
O=s A &=l 60,000& 123 720
O3J18&FJ| gx=z 50,0003 *2CH 123 1,200
OXZgd =8J gx= 220,000 1228 2,640
02 =24l 31,156 30,256 900
OXtg s Xigl(2th) 7,000,000& 7,000
OFAL diteh TAIJIARS 800,000& »12& 9,600
O&EII&Hl |RXE=Hl 88,000& 123 1,056
OBMN dUHYAAHE X 22|
600,000& *23| 1,200
OF AL X 22l 6,000, 000& 6,000
OsZJIs Xl 150,000& *123] 1,800
OFAI LHA= HEAH 4,500,000& 4,500
203 YR =2l 2,300 2,300 0
03 A Z=XH S =AY 2,300 2,300 0
Odlls sELRAHFA 2,300,000 2,300
401 Al HI L 2T 6,000 126,000 120,000
01 A& Bl 6,000 126,000 A 120,000
Os A =& el 6,000,000& 6,000




SN NS
X dIs AHEEH
Hel: HdE=F IL 4 HWaeedg HOAE K& fEH)
o
SN FH-SA(EN) - MBAY - BES e HlnE2
405 XHoHF S HI 1,200 0 1,200
01 AL ESFH S 1,200 0 1,200
ool =& 400,000& +2H 800
Ou=2J + 400,000 =104 400
229t US4 A& 4,000 4,000 0
201 Let249] 4,000 4,000 0
03 A2 4,000 4,000 0
o224 ol X0l A
4,000,000 4,000
Bt EESEY 65,140 65, 140 0
clgtHEsSEY 65,140 65, 140 0
301 LA S 65,140 65,140 0
05 S&-0%-tE 65,140 65, 140 0
os&d=¢ 300,000& x13H x12& 46,800
OsZ&dNH3 300,000& »13H 23| 7,800
Os&sloasd=d 20,0003 x13H «23|x12& 6,240
Otttz &=l 50,0003 86 13 4,300
SE5d SX g2 =4 600 1,330 AT730
gEsd =X 23 600 1,330 A 730
201 £B-2%| 600 600 0
02 =24l 600 600 0
OAMILUOI(ADERAX) S& =2 (30H)
600,000 600
HYRIZH (MIHS) 41,880 51,020 29,140
JI2ZH(&4IS) 41,880 51,020 A9,140
22 (4s) 41,880 51,020 A9,140
201 Let24d]| 29,500 29,500 0
01 At 22l 12,000 12,000 0
ORA2IEAR22] 12,000, 000& 12,000
02 =224l 17,500 17,500 0
(OFSPIR==; 12,000, 000& 12,000
Odot=ER= 2,000,000& 2,000
ORERS 3,500,000 3,500
202 04l 2,300 11,440 29,140
01 = LH o4 1l 2,300 11,440 29,140
OsdgYg= 300,000 300
OJl2g= 2,000,000& 2,000
203 R =&t 10,080 10,080 0
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